TH2EE RE
WAHERXTE (HERKEMFRLES)NFETONSD
HAEREFEIRETOHMHESRERRICEITOGRE

(HmA)
W AEERR{FE (HEREREES) 14,837 FH
()
HEREARETOMASERERKICET HEE 383,207 FH
(S REAHEE ZOMt S REEEICET 58 E] .
228 TR N R
% 4 o P R TE ) I — ik MK
Fei ¢ W = o B Zof
= & o\ fak = 58,084 46,214 14 695 11,161
R oM EH O\ Ak FOE 50,391 111 802 2,901 46,577
%}’E R’ =B om ak F % 57,283 33,321 1,405 22 557
T = & f FOE 16,038 613 905 14,520
/N 2 181,796 80,259 816 5,906 94,815
R B F ¥ 36,437 1,827 2,029 32,581
e B fE R R R F % 12,540 6,661 345 5,534
PRIR | 4% M0 e 5 1 AR PR 24,044 4,896 1123 18,025
7N Zt 73,021 13,384 3,497 56,140
P2 P Bk =5 £ 80,396 6,950 23,521 2,928 46,997
%{ﬁ W om T B ok R OFEOE 18,144 4,006 1,249 756 12,133
/N &t 98,540 10,956 24,770 3,684 59,130
£ 2 £R B BE AR it 5% 12 4R D I B R B 0 0 0
2 PR BB R BRI 4R DA E R 19,700 1,155 18,545
Z DA, (M5 A B FHATEICEE S &
A AR T ) 10199 %9 9555
a &t 383,207 104,599 25,586 14,837 238,185




